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Slope and Rate of Change 

∗ Slope  
 

𝑚 =
(𝑦1 − 𝑦2)
(𝑥1 − 𝑥2) 

 

        Other words  
• Rise to run  
• Rate of change 
• 𝑈𝑝 𝐷𝑜𝑤𝑛

𝐿𝑒𝑓𝑡 𝑅𝑖𝑔ℎ𝑡
 

 
 

Find the Slope of each 
 
Ex1 )                                      

 

 
Ex2)  
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Ex3)  (-4,2) and (2,6)     
   

 

 

 

 

 

Ex4)  (5,2) and (4,-1)     
    

 

 

 

 

 

Ex5)  (-3,5) and (4,5)     
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Ex6)  (5,2) and (5,-3)                      
      

  

 

 

Solve for x or  y 

Ex7)  (x, 2) and ( 3,0   ) if m =- 
2
3
   

  

 

 

 

 

 

Ex8)  (0,y) and (5,-4)  if m = -2   
  

 

  


